Cariny

PHU KIEN T0 BEP & TU A0 CAO CAP

Kitchen & Wardr

e Har

dware Fitting

@r

BANG GIA PHU KIEN HOAN THIEN ITALIANA ferramenta

TALIANA

ferramen

Ha Ngi, Ngay I thing 05 Niim 2018

TT Picture Decription Picture Item code PVT Pon gia ban
(Hinh anh) (M6 ta) (Hinh anh) (Ma so) 1¢ (VND)
FLIPPER 14mm bo 2,640
~
“ Shelf support FLIPPER g 10601020 -
hi
14mm white ; AB/JG/MB cnee 1,760
1
>
" Smooth dowel for H’JPPI:R 25 x o 10605010ZN chiée 380
> L.8,5mm Zk Vg
2
FLIPPER 18mm bo 2,640
Euro dowel for FLIPPER LA .
R 10604010ZN hi
O5xL8,8 Zk < \\s e 880
) 4
Shelf support FLIPPER 10601030AB chiée 1,760
18mm white
A
UNICO - Chét dot gb
= 7
- i 1 >
N Shelf support UNI(O EURO r ] 107020107 A chibe 8,800
grey bright Nk ol *
3 e
& 0:7
\
5 Shelf support UNICO @5 grey 10701010YA chiée 8,800
// bright Nk
KERALA - Chét dgt gb nhwa bo 3,850
S_—
W Y KERALA shelf support N 12001000AB chide 2,200
plastic white
4 KERALA side dowel 03 12001010AB chiée 1,650
plastic white
4
y e
KERALA side dowel @3 Zinc Alloy Q 12001060Y A
A Y
SPRING - Chét dot g6 (16 x0)
\!"
S
SPRING shelf support plastic white @5 - %
- hi
5 -~ (minT=16mm) % chiée 6,050
PAD - Chét c6 dinh
! | ! PAD permanent dowel L35 .
6 T l @=9,3 mm Euro for 18mm 2162300000 chiée 3,300
if Green
l, M PAD permanent dowel L35 )
7 ' ?8,8mm Euro for 18mm 2162301000 chiéc 3,300

Black




13

ELEFANT connecting
fitting 19 mm Nk

11901010YA

-4
chiée

41,800

Insert Nut M8x12x15 plain

Support for PK2 19mm w/cam

20103010GR

114010301 hié
pin ZK greyl9 cee 4,400
Bracket PK2 19mm with 11403010Y A chiée 4,400
euro hole Nk
Template for PK 2 1145001000

22mm Zk

Shelf support insertion on the shelf
SECRET MAXI SL25 Grey

1222400017

MAORI shelf support 11701070IL chiée 2,200
19mm grey
10
MAORI 19mm bracket with "
11710010YA hi
hole Nk chiec 3,300
MAORI shelf support 11701100IL chiée 2,500
25-29mm grey
11
MAORI 25mm bracket .
11716010YA hié
with hole Nk emee 3400
Connector dowel for VIS M8 d.9 L.40 21210040ZN chiée
hole centre 25mm Zk
»
Insert Nut M8x12x15 plain @ 20103010GR chiée
12
Grub screw M6x15,3mm Zk 21101060ZN chiée
| VIS connector d.35mm, double position 21626000ZN chiée

chiée

26,400

Secret Maxi for 25mm, side bush

1222600011

s
chiée

6,600




Template for body part,Secret Maxi

1226200000

chiée

16,500

Template for side part, Secret Maxi

Shelf support MINISECURY with 2

1226400000

-4
chiée

16,500

shelf support

KRISTAL glass support

15 pegs mm.5 Nk 10206010YA chiée 2,750
Shelf support K-LINE w/1 £
10208020YA hi

pin @5 Nk chiec 2,200

16
————.
——
Rubber pad for K-LINE ™ = 10208060 chide 1,100

Shelf sup. KAIMAN
8-40mm stainless

16102020YD

5-6mm pin @5 Cr 16113040KB chiée 23,100
KUBIC main body %
pin @5 Nk/White 16019021YA chiée 17,600
18
KUBIC upper part w/o rubb £
16019130YA hi
glass 5/9mm Nk W 9 chiée 6,600

Shelf support Kalabrone %
19 e % 16220080KB chiée 85,800
Shelf support Kalabrone f 16220010YD chiée 336,600
8+30mm Stainless

chiée

414,700




Picture Decription Picture Item code PVT Pon gia ban

Tt (Hinh inh) (M ta) (Hinh inh) (M3 s6) 1é (VND)

22

Bracket for

TRIADE MINI Zk 16215040ZN chice 95,700

Concealed shelf support £
TRIADE MINI 25mm / 1621401000 chiée 156,200

Concealed shelf support %
TRIADE 25-40mm / 1621501000 chiée 152,900

23
Bracket for TRIADE Zk 16215020ZN chiéc 74,800
Concealed shelf sup. £
TRIADE MAXI 40mm 1621601000 chice 205,700
24

Concealed shelf sup. TRIADE XXL min.40mm 1621701000 chiée 264,000

Bracket for £
TRIADE MAXI Zk ‘ 162150302N chice 89,100

REKORD @12mm;

3030101000 hié 53,900
hole centre 52mm e ’
27 REKORD ©12mm; 3030102000 chiée 57,200
hole centre 70mm
54 mm allen wranch
28 Level adjuster REKORD ©@14mm 3030201000 chide 41,800
Hole centre=52 mm.
ADJUSTMENT 0 - 18 mm .
29 Level adjustor REKORD @14mm 3030202000 chide 47,300

Hole centre=70mm.




Chan diéu chinh Adjust. leveller

34

harmonic steel

K-PUSH TECH STRONG
VERSION 20mm concealed
w/magnet white

\

P
<

57004060AB

. - hié
2 ' INTEGRATO Z 030 H17mm, miu den 30T08010EA chice 27,500
ADJUSTMENT Leveller
30 INTEGRATO A/.../G height adjust 0 3010601000 chiée 37,400
12 mm
ADJUSTMENT Leveller
31 INTEGRATO A/.../G height 3010602000 chiée 37,400
adjust 0-25 mm
leveller ATACAMA J adj 2
317010001 hi

20mm Zamak grey 7 17 chiec 89,100
32 Insert Nut M8x12x15 plain @ 20103010GR chiée 2,200
PLINT CLIP 37mm, ﬁ 31501030W1 chide 18,700

-4
chiée

78,800

K-PUSH TECH STRONG
VERSION 20mm concealed
w/buffer white

57004080AB

-4
chiée

64,200

35

K-PUSH TECH STRONG
VERSION 37mm concealed
w/magnet white

AR

3‘“’
G

57004060AB

chiée

89,400




TT Picture Decription Picture Item code PVT Pon gia ban
inh an 0 ta inh an 450 é
h anh M0 ta h anh M 1 b
V]
V] :
i E
| K-PUSH TECH STRONG
36| | | ‘ VERSION 37mm concealed 57008080AB chiée 74,400
L A Z 8
2 min.
37 . K-PUSH TECH 14mm concealed $7002020AB chiée 78.800
w/magnet white 4 ?
ﬁ ‘/
K-PUSH TECH 14mm concealed <
- 5700202017 hié
38 w/magnet grey ;\P A emee 78,800
K-PUSH TECH 14mm concealed <
57002040AB hié
39 — w/buffer white enee 64,200
40 ’ $ K-PUSH TECH 14mm concealed ‘/ 2002040 ahibe 54200
w/buffer grey >
41 K-PUSH TECH 20mm concealed $7004020AB chiée 78.800
w/magnet white - >
V' o
“ EEEEE @ | x-PUSHTECH 20mm concealed . 0040301 ke 78,800
| o LS w/magnet grey %Y ‘w ”
K-PUSH TECH 20mm concealed <
57004040AB hié
43 w/buffer white br e 64,181
" L — )] K-PUSH TECH 20mm concealed \/ 20040401 ahibe sa1s1
s w/buffer grey ?
45 K-PUSH TECH 37mm concealed / 57008020AB chibe 89.400
w/magnet white ’
i /
i f_ 0 ¥
46 K-PUSH TECH 37mm concealed ;v’ -@ $70080201) chibe 89,400
@ w/magnet grey
|
| K-PUSH TECH 37mm concealed .
57008040AB hié
47 } w/buffer white - chiee 74,400
i
*1
L' e K-PUSH TECH 37 led .
48 ) mm conceale 5700804017 chiée 74,400

w/buffer grey




K-PUSH TECH shell 14 and 57006020AB chiée 8,000
20mm white
50 K-PUSH TECH shell 14 and 5700602011 chiée 8,000
20mm grey
51 K-PUSH TECH shell 37 mm white 57010020AB chiée 8,500
52 K-PUSH TECH shell 37 mm grey 57010020AB chiée 8,500
53 K-PUSH TECH mounting plate 14 57006040AB chiée 6,600
and 20mm white
54 K-PUSH TECH mounting plate 14 570060401) chibe 6,600
and 20mm grey
wood screws @ 3516 mm .
55 K-PUSH TECH m0}mt1ng plate 57010040AB chibe 7,500
37mm white
56 K-PUSH TECH mounting plate 570100401 chibe 7,500
37mm grey
- 3§
- . Vit nam cham K-PUSH round plate "
55006100YA "hi
37 m @3mm L14 for screwing Nk Chice 4,400
58 %‘ K-PUSH round pl;;]e( @10 w/pin @5mm SS006040Y A Chiée 4,400
20 o8 Lo |
KRABY automatic f)pemng 1.244; £2111010UZ chibe 341,000
N80 Beige




Beige

Decription Picture Item code PVT Pon gia ban
(M ta) (Hinh anh) (M s6) 1é (VND)
p.
KRABY automatic opening L244; N100 4211201002 chide 341,000
Beige a% ’
p/
KRABY automatic opening L355; N120 4211301002 chiée 478.500
Beige > ?
).
KRABY frictioning "
a 42012010UZ hié
opening L244; N60 Beige cnee 432,300
p
KRABY frictioning "
42013010UZ hié
opening L244; N90 Beige > enee 432,300
p
KRABY frictioning opening L355; N120 42014010UZ chide 504,900

Met

K12 System lift up \ y
48020460UZ hi

L.244mm; N80 T-Met & v o 800

K12 System lift up L.244mm; N100 T- g\ AR0204R0UZ chibe 459,800




67

68

69

BRACKETS 015;
n

K Push om st i
gt eatk o rvabis

245 min.
[r—rpe—

BRACKETS 015!

K Ruah bach o shast i
sopavible o v

K12 System lift up L.244mm; N120 T-
Met

K12 System drop down
L.244mm T-met

@

48020500UZ

48060200UZ

chiée

chiée

459,800

531,300

K12 System drop down
L.355mm T-met

48070200UZ

chiée

611,600

Plate for KIMANA hinge Nk w 40115000Y A chiée 77,000
70 Klnﬁﬁ?d };i;ie 3’ 40115010YA chiée 85,800
KIMANA cover Nk ' 401150407 A chiée 8,800
meommended couriarskhaad Kimana Adapter 1.5mm -I-‘Iﬁo 40115320YA chiée -
weed serows @ 135, 19, 20
71 / Kimana Adapter 2mm | ,Q 40115340YA chiée 11,880
Kimana Adapter 3mm - -’Q 40115360YA chiée




QUICK Worktop connector @30mm ol .
2161101000 B
2 MB8x50Zk ¢ oo ¢ 60,500
QUICK Worktop connector @30mm o
2161102000 B
& M8x150 Zk oHo ¢ 71,500
QUICK Worktop connector @35mm o
2162101000 B
" M8x64 7k 6210 ¢ 60,500
QUICK Worktop connector @35mm -/;‘-” o
2162102000 B
i MSx150 Zk ? 6210 ¢ 71,500
76 Round cap for Quick @30mm r 2161001000 Bo 8,500
worktop connector
Round cap for QUICK ’ .
2162001000 B
77 @35mm Worktop connector 6200 © 8,500
B
Cabinet hanger LIKU 6380100000 chiéc 202,400
78
Wall plate LIKU ZK i 63802400ZN chiéc 59,400
79 Moc treo am trén Bo 38,500
80 Moc treo am dudi Bo 33,000
‘WP1 wall plate to be split in 63450010ZN cai déiﬁtréi + 15,400
two pes Zk phai)




® LIBRA Hl'hanger 63420015ZN 2 chiécwgtréi-%— 83,600
screw fixing Zk phai)
—
WP% \fvall plate to be 63450010ZN cai déi}tréi + 15,400
split in two pcs Zk phai)
® LIBRA H2 hanger 3 63420020ZN 2 chiée 112,200
dowels + rotar. lever Zk
Setfor cross P22
WP1 wall plate to be y 63450010ZN cdi 40 (rki + 15,400
split in two pcs Zk phai)
83 . LIBRA H3 hanger 63420050ZN chiée (trai) 48,400
VERTICAL ACULSTIENT pins D10 left Zk
LIBRA H3 hanger L .
63420040ZN hi hai 48,400
pins D10 right Zk chic (phai) >
cai do
WP 1, Wall plate to be ; 63450010ZN (trhi + 15,400
split in two pcs Zk phai)
84 LIBRA H4 hanger 63420200ZN chice 48,400
left Zk (trd)
LIBF A H4 hanger 63420210ZN °'l’lj,é.° 48,400
right Zk (phai)

1



85

86

88

89

INSTALLATION ONTHE WALL
-Far datals refer i "LIBRA WAL PLATES LIERA WPz *

—TT

g

recammeanded fixing
self-lapping pan head

scraws @ 4.2 x 45 mm

WP2 wall plate ABC céi doi (trai +
63450020ZN
to be splitin 2 Zk H phi) 22,000
LIBRA H6 hanger "
63420510ZN hi
w/pin Q15 left Zk % chiee 152,900
LIBRA H6 hanger "
63420500ZN hi
w/pin @15 right Zk F chiéc 152,900
WP5 wall plate ABC i doi
to be split in 2 Zk 63450050ZN (trdi + 56,100
(or use WP2) phai)

LIBRA CH wall hanging vertical profile
Type A L.450mm w/1 end

LIBRA H7 dowel fixing with "peg joint"

6400443100

chiée

277,090

-4
ffalum.bar left Zk 63422210ZN chice 202,400
LIBRA H7 dowel fixing with "peg joint" "
63422200ZN i
f/alum.bar right Zk chice 202,400
‘WP5 wall plate to be 63450050ZN cai doi (trai + 56,100

split in two pes Zk

LIBRA H7 screw fixing with "peg joint"

T A —

phai)

63422250ZN hié
f/alum.bar Left ZN chice 202,400

LIBRA H7 screw fixing with "peg joint" .
f/alum.bar Right ZN 63422240ZN chiée 202,400
‘WP5 wall plate to be 63450050ZN cai doi (trai + 56,100

split in two pes Zk

phai)

12



Picture
TT
(Hinh anh)
H.40,2 MM ALUMINIUM BAR
[ o —
H. 805 MM ALUMINIUM BAR Optianal
91

“‘l‘-/
%

Opticaal woad dowel @ 8 x 30 mm

w/3 holes

LINK Opening System

Decription Picture Item code PVT Pon gia ban
(M ta) (Hinh 4nh) (M s6) 1& (VND)
Aluminium profile H.40
6701092300 thanh
L=1092mm with 3 holes 280,500
Aluminium profile H.80,5 - L.1092mm
for Libra H7 6711092300 thanh 423,500

Panelvit screw flat head PZ2 @4x31mm

47020020UZ hié
N262 T-Met o i - chiec 1,137,400
<
LINK Opening ’ ‘%
47038020UZ hi
System Q300 T-Met . o chice 1,279,300
<
LINK Opening System U262, White "’ 47030020AE chiée
|
S
LINK Opening System U262T-Met 47030020UZ chiée

M4x15 Nk

TARGET J10 - Screw M7

TARGET J10 - Screw Euro 11
mm

Pinion @10 for tck. 16mm

Pinion @10 for tck. 19mm

Nk 60113020YA chiéc 1,320

Connecting tube with flat head M4x5x27 / 08200107 A - 2,200
Nk

Connecting tube with flat head M4x5x30 20820020YA Bo 2,200
Nk

Screw with flat head for connecting tube 20821020YA chide

P1510020ZN Bo 20,000
P1606820ZN Bo 20,000
P1502783ZN
P1610460ZN

13



104

105

106

107

108

N

M8x10 Zk
21405020ZN | 39 31 8 7

Cross dowel @14 for 18mm

Str dung cho van day 16mm Bo 20,000
M6 |
B
Sur dung cho véan day 25mm Bo 20,000
Doule-ended dowel @7 X
L31mm Zk g 21405020ZN Chiéc 22,000
Cross dowel @14 for 18mm 21004010ZN 2 Chiée 6,820
w/o flange ZK
® @ @ @ Grub screw cross socket o 21102030ZN 2 Chiée 2,420

. Pulling bracket 20x17 zinc
! nickel
| 2,5
.

%

10203010YA

Wwlo flange ZK . 21004010ZN 2 Chige 6,820

Grub screw cross socket X
M8x10 Zk a 21102030ZN 2 Chiéc 2,420
Pinion @10 for tck. 19mm / 212020102N chide 5,610

-4
chiée

3,000

14



i

*_ 1 - |- In-Fame door bracket type A -
109 - e 13.6x13,15mmNk 63212000YA chiéc 4,000

-_ 13,15 I

110 Door stop hole @5 2-mat. transparent Lu 23203010ZZ chiée 1,100
111 Door buffer SOFT transparent ﬁ 23203050AA chiée 1,650
1 Adnesie cover cap €10 J 230140704 20 chice 13,200
113 Adhesg;;";’; ;gp d.16 . 230140701G 22;:2?“/ 13,200
114 Adheﬁgﬁf:;;ap e . 230140700N 22;:;’?“ 13,200
115 Adhes(i:"lfe::}:’; ;ZP d.16 . 23014070PS 22;:;&/ 13,200
116 Adhes\:,':h‘fl‘t’e;l;? d.16 . 23014070QY 22;:;‘?/ 13,200
117 ﬁi ] i : Eccentric cover cap 35 mm ﬁ 23011010 AB chiéc 5,000
118 & Vit N& nhua X1-8*40 (Vit 5x50) 60073508040 b 4,400
119 _ fﬁ Vit né nhyaTSS 6x50 (Vit 3.8x65) 62200606060 b 4,400
120 / Vit N& nhua X1-10%50 (Vit 5x50) 60071610050 b 5,500
121 Vit ng nhya RM-X5-10*8/30 64304b10080 chiéc 22,000

15



122 N nylon treo ta TDE 12/70 63200012070 chiée 28,600
123 Né nylon treo tu TDE 14/75 63200014075 chiée 33,000
124 Bu-16ng nd nhya treo ti TDE 12/70 63100612070 bd 39,600
125 Bu-16ng né nhya treo tua TDE 14/ 75 63100614075 bo 49,500
126 Chét dot g8 , vit n& nhya MDE 62802600080 bo 63,800
10/80
127 : Chét dot gd , vit nd nhya MDE 12/120 6280260012000 bd 74,800
128 Chét dot gb , vit ng nhya MDE 14/170 6280160017000 b 92,400

Showroom Ha N&i Showroom Ba Nang - CARINY MIEN TRUNG Showroom HCM - CARINY MIEN NAM
150 Nguy&n An Ninh ,Hal Ba Trurng, Ha NJi 111 Ham Nghi, Quan Thanh Khé, TP Da Ning 269 T6 Hién Thanh, P.13, Q.10, TP Hd Chi Minh
Tel:(024) 3.62.82 666 Hotlline : 012.36282666 Tel : (0236) 3650111 Hotline : 0911.650111 Tel: (028) 388.68.666 Hotline : 0905.783411
Emall : Info@cariny.vn Emalil : danang@cariny.vn Emall : hcm@cariny.vn

GIAM oé'c‘
Tran Viét Hung



